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QUESTION 1

Which NSX component provides the ability to provide East-West distributed routing for virtual machines in different
subnets without having to traverse the physical network?

A. NSX vSwitch

B. NSX Edge

C. NSX Controller

D. NSX Distributed Firewall

Correct Answer: B

QUESTION 2

In a data center using a leaf and spine architecture, which two statements define the connectivity between the leaf and
spine tiers required to provide optimal network connectivity for NSX? (Choose two.)

A. Links are required between leaf and spine switches, and from each spine switch to other spine switches in the
architecture.

B. Links are required between leaf and spine switches in the architecture to form a point-to-point connection between
the two tiers.

C. High availalability and scalability should be achieved using NSX High Availability.
D. High availability and scalability should be achieved using Equal Cost Multipathing (ECMP).

Correct Answer: BD

QUESTION 3

What are two advantages for using NSX for vSphere\\'s Logical Switching? (Choose two.)
A. Expands the number of available VLANSs.

B. Allows for Layer 2 switching over Layer 3 infrastructure.

C. Distributes Layer 3 data across multiple hypervisors.

D. Provides for 10,000 logical segments.

Correct Answer: BD

QUESTION 4

Which configuration change on the physical infrastructure is required when deploying NSX?
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A. Increase the MTU size on the physical switches

B. Enable multicast when the control plane mode is set to unicast

C. Disable spanning tree protocol

D. Enable IGMP snooping when the control plane mode is set to multicast

Correct Answer: A

QUESTION 5

Which statement correctly defines third-party gateway support in NSX for vSphere and NSX for Multiple Hypervisors
(NSX-MH) for application workloads that span virtual and physical spaces?

A. Only NSX-MH provides support for hardware based gateways.

B. Only NSX for vSphere provides support for hardware based gateways.

C. Both versions of NSX provide support for hardware based gateways.

D. Neither version of NSX provides support for hardware based gateways at this time.

Correct Answer: C
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